
Box Components

Midfoot 2,7

Box Components Kit

09.50.03.00070

Component Cases

09.50.04.00070



[Blank]



1

Midfoot 2,7



2

Midfoot 2,7

N# REF DESC QTY

1

15.14.03.27008 Locking Screw, Ti, Ø2.7 x 8mm TX, S/I Extrem 5

15.14.03.27010 Locking Screw, Ti, Ø2.7 x 10mm TX, S/I Extrem 5

15.14.03.27012 Locking Screw, Ti, Ø2.7 x 12mm TX, S/I Extrem 10

15.14.03.27014 Locking Screw, Ti, Ø2.7 x 14mm TX, S/I Extrem 10

15.14.03.27016 Locking Screw, Ti, Ø2.7 x 16mm TX, S/I Extrem 10

15.14.03.27018 Locking Screw, Ti, Ø2.7 x 18mm TX, S/I Extrem 5

15.14.03.27020 Locking Screw, Ti, Ø2.7 x 20mm TX, S/I Extrem 5

15.14.03.27022 Locking Screw, Ti, Ø2.7 x 22mm TX, S/I Extrem 5

15.14.03.27024 Locking Screw, Ti, Ø2.7 x 24mm TX, S/I Extrem 5

15.14.03.27026 Locking Screw, Ti, Ø2.7 x 26mm TX, S/I Extrem 5

15.14.03.27028 Locking Screw, Ti, Ø2.7 x 28mm TX, S/I Extrem 5

15.14.03.27030 Locking Screw, Ti, Ø2.7 x 30mm TX, S/I Extrem 5

2

15.04.03.27008 Cortical Screw, Ti, Ø2.7 x 8mm TX, S/I Extrem 5

15.04.03.27010 Cortical Screw, Ti, Ø2.7 x 10mm TX, S/I Extrem 5

15.04.03.27012 Cortical Screw, Ti, Ø2.7 x 12mm TX, S/I Extrem 10

15.04.03.27014 Cortical Screw, Ti, Ø2.7 x 14mm TX, S/I Extrem 10

15.04.03.27016 Cortical Screw, Ti, Ø2.7 x 16mm TX, S/I Extrem 10

15.04.03.27018 Cortical Screw, Ti, Ø2.7 x 18mm TX, S/I Extrem 5

15.04.03.27020 Cortical Screw, Ti, Ø2.7 x 20mm TX, S/I Extrem 5

15.04.03.27022 Cortical Screw, Ti, Ø2.7 x 22mm TX, S/I Extrem 5

15.04.03.27024 Cortical Screw, Ti, Ø2.7 x 24mm TX, S/I Extrem 5

15.04.03.27026 Cortical Screw, Ti, Ø2.7 x 26mm TX, S/I Extrem 5

15.04.03.27028 Cortical Screw, Ti, Ø2.7 x 28mm TX, S/I Extrem 5

15.04.03.27030 Cortical Screw, Ti, Ø2.7 x 30mm TX, S/I Extrem 5

Implant 
Case Set 21



3

Midfoot 2,7

N# REF DESC QTY

3 26.26.37.00207 Lock-Plate, Ti, Midfoot, T, 7-H, IE 2,7mm 1

4 26.26.37.00206 Lock-Plate, Ti, Midfoot, T, 6-H, IE 2,7mm 1

5 26.26.37.00205 Lock-Plate, Ti, Midfoot, T, 5-H, IE 2,7mm 1

6 26.26.37.00104 Lock-Plate, Ti, Midfoot, 4-H, IE 2,7mm 1

7 26.26.37.00105 Lock-Plate, Ti, Midfoot, 5-H, IE 2,7mm 1

8 26.26.09.27010 Lock-Plate, Ti, Clover, 10-H, IE 2,7mm 1

9 26.26.09.27012 Lock-Plate, Ti, Clover, 12-H, IE 2,7mm 1

10 26.26.09.27014 Lock-Plate, Ti, Clover, 14-H, IE 2,7mm 1

11 26.26.37.00305 Lock-Plate, Ti, Midfoot, T Obl, L, 5-H, IE 2,7mm 1

12 26.26.37.00405 Lock-Plate, Ti, Midfoot, T Obl, R, 5-H, IE 2,7mm 1

13 26.26.37.00306 Lock-Plate, Ti, Midfoot, T Obl, L, 6-H, IE 2,7mm 1

14 26.26.37.00406 Lock-Plate, Ti, Midfoot, T Obl, R, 6-H, IE 2,7mm 1

15 26.26.37.00307 Lock-Plate, Ti, Midfoot, T Obl, L, 7-H, IE 2,7mm 1

16 26.26.37.00407 Lock-Plate, Ti, Midfoot, T Obl, R, 7-H, IE 2,7mm 1

17 26.26.37.00308 Lock-Plate, Ti, Midfoot, T Obl, L, 8-H, IE 2,7mm 1

18 26.26.37.00408 Lock-Plate, Ti, Midfoot, T Obl, R, 8-H, IE 2,7mm 1

19 26.26.37.00309 Lock-Plate, Ti, Midfoot, T Obl, L, 9-H, IE 2,7mm 1

20 26.26.37.00409 Lock-Plate, Ti, Midfoot, T Obl, R, 9-H, IE 2,7mm 1

Implant Case Set 3
4

5 6

7

8

9

10

11 12

13 14

15 16

17 18

19 20

21



4

N# REF DESC QTY

21

09.50.10.00150 Dispenser for K-Wire 150mm 1

17.02.01.11100
Kirschner Wire, SS, Trocar/Round, Ø1,1 x 
100mm

10

22 09.08.01.00060 Depth Gauge 60mm 1

23 09.10.06.00150
Plate and Screw Holding Forceps, Angled, 
150mm

1

Midfoot 2,7

21

22

23
24

25
26

27
28

29



5

Midfoot 2,7

N# REF DESC QTY

24 09.07.04.08091 Shaft Screwdriver, TX-8, 90mm, AO, Blue 2

25 09.01.03.20020 Drill Bit Ø2.0 x 120mm, S-50, AO, Blue 2

26 09.01.07.20021
Drill Bit Ø2.0 x 125mm, S-50, Stryker, B-4.5, 
Blue

2

27 09.13.00.02735 Bender, 2.7/3.5mm System Plates 2

28 09.05.14.04020
Graduated Drill Guide, Ø2.0 x 40mm, 
Threaded, Blue

1

29 09.04.04.12030 Cannulated Handle, AO, 120mm, Green 1



[Blank]



[Blank]



AST.BOX.021
REV.01

09/2022


